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p=(a+pB) g=(y+6) w=paq/(p+q)
s=a B/(a+B)= o B/p t=y 6/(y+§)
xp=a/(a+B)xat B/(a+ B )% X~y /(y+06)x+0/(y+0)xa Xs . JiFs (BFF) xJEE
<Axa=%p—%a= Bla+p) xp—xa) > <VXpq = Xp—Xq> <Vxp = Xp—Xs >
o =y B
% LR B{E
H 72| (S.Sy= (7 /p)32 « exp(—sRap2)
)
(xaSp) = xa /X2 = Xp—Xa
(xaxp) = Axaxv + 1/(2p) AI%b = Xp—Xb
(sayn) = Axayb Ayv =yp—y»
37" 9% | [SaSbl (z/ p)32 -+ s« exp(— (83—2sRan?)
sRan?)
[xa Spl = Axa (3—2sRwp?) + 2/0xa
[ xaxp] = AxaAxn (3—2sRan?)
+2 /Ixa/Ix1
+ %2/
+1/@2p) (3—2sRa?)
+ 2/(2p)
[ xayn] = AxaAyp (3—2sRan?)
+2/Ixayb
+ %2y
J-ny <SaSp>= Zs+2n/p - exp(—sRa | FOX) épl/st
?) FOX)= erfX)X =
WX) e v2du
< Xa Sp>= /IXa - FO VXp= Xp—Xs
+ (1/2p)Vxp - p * FOX/X FOX= ( exp(—X2)—
Fo(X)) / X
<Xa xp>= xa - Axp - FO F0X3=— (2X exp(—
+ x +(1/2p)Vx, +p - FOX/X X2)—3F0X) / X
+(1/2pD)Vxp + Axp ‘p - FOX/X
+(1/2p)Vx, » (1/2p)Vx, -+ p? - FOX3/X2
+ (1/2p) - (1/2p) ‘p - FOX/X
+(1/2p) - FO
<Xaya>= xa - Ayb - FO Vyp=yp—s
+ Axa - (1/2p)Vyp p * FOX/X
+(1/2p)Vxp + Ayp *p * FOX/X
+(1/2p)Vxp * (112p)Vy, -+ p? - FOX3/X2




| (S SS)= = 20 = ) FOX) E=allra) "R
(1/(pq(p+q)?) + exp(— FOX)= erf(X)/X
sRar2)exp(—tRea?)

(2aSb | ScSa) = xa - FO V Xpq = Xp—Xq
+(1/2p) V xpq cw -+ FOX/X
(xaxb | ScSa) = Xa « A - Fo FOX3=(—2Xexp(— X
+ xa « (1/2p) Vxpq cw - FOX/X 2)—3F0(X)) / X
+(1/2p)Vxpg + Axp cw - FOX/X
+(1/2p) Vxpq * (1/2p)V xpq - w2 - F0X3/X2
+(1/2p) - (1/2p) cw - FOX/X
+(1/2p) - FO
(xaSb | %cSa) = xa « Axe - FO V Xgp = Xq— Xp
+ X c (1/2¢9)Vxep -+ w + FOX/X
+(1/2p) V xpq - % -w - FOX/X
+(1/2p) V xpq - (1/29)Vxeyp - w2 - FOX3/X2
+(1/2p) < (—1/29) - w - FOX/X
(xayb | SeSa) = Axa - Ayv - FO V¥pa=Yp—Ya
+ xa + (1/2p) Vypa cw - FOX/X
+(1/2p)Vxpq = Ayo FoX/X
+(1/2p)Vxpq * (1/2p) Vg « w2+ F0X3/X2
(2aSb | yeSa) = xa - Aye - FO Vyw=ya—¥p
+ X «(12p)Vyep - w - FOX/X
+(1/2p) V xpq - Aye -w - FOX/X
+(1/2p) V xpq - (1/2p)Vyeyp w2 - FOX3/X2
(2axb | %cSa) = xa - Axv -+ Axe - FO FOX5=(4X2exp(— X?)
+ X + (1/2p) Vxpq * Axe -w + FOX/X —5F0(X)) / X
+(1/2p)Vxpq * xp - xe cw - FOX/X
+(1/2p)Vxpq * (1/2p) Vxpq * Axe - w2 - FOX3/X2
+(1/2p) - (1/2p) - Axe cw - FOX/X
+(1/2p) + Axe - Fo
+ /X -« Az - (1/29)Vxgp * w + FOX/X
+(1/2p)Vxpq * xb c(12Q)Vxeyp - w2+ FOX3/X2
+ /xa < (1/2p)Vxpg * (11290 Vg + w2 - FOX3/X2
+(1/2p)Vxpq * (1/2D)Vxpq * (1/29)Vxgp = w3 + FOX5/X3
+(1/2p) - (1/2p) < (1/29)Vxep w2 - FOX3/X2
+(1/2p) - (1129)Vxqp * w + FOX/X
+(1/2p) - Axb + (—1/29) w - FOX/X
+ /Xa - (1/2p) (=129 -w -FOX/X
+(1/2p) « (1/2p) Vxpq * (—1/29) « w2« FOX3/X2
+(1/2p) V xpq * (1/2p) + (—1/29) + w2 « FOX3/X2
(xayb | xcSa) = Xa < Ay c Axe - Fo
+ xa + (1/2p)Vypq * Axe - w - FOX/X
+(1/2p)Vxpq = Ayo - e «w - FOX/X
+(1/2p)Vxpq * (1/2D)Vypq * Axe - w2 - F0X3/X2
+ X -« Ayb - (1/29) Vxgp * w * FOX/X
+(1/2p)Vxpq * Ay c(129)Vxeyp + w2 - FOX3/X2
+ Axa - (1/2p)Vype + 171290 Vxeyp - w2 - FOX3/X2
+(1/2p)Vxpq * (1/2D)Vype * (1/29) Vg  * w3 + FOX5/X3
+(1/2p) -+ Ay + (—1/29) - w - FOX/X
+(1/2p) « (1/2p)Vypq * (—1/29) « w2 « FOX3/X2




(XaXb ‘ Xch) =

Axa < Az c ke 0 Axa - FO
+/%a - (12pD)Vxpg * Axe  * Axa + w + FOX/X
+(1/2p)Vxpqg * xp - xe c Axa4 *w - FOX/IX
+(1/2D)Vxpq * (112D VXpg * Axe * Axa * w? + FOX3/X2
+(1/2p) - (1/2p) - Axe + Axa + w+ FOX/X
+(1/2p) cxe 2 Axa + FO
+ /Xa .« /xn + (1/2q) Vg * Axa * w * FOX/X
+(1/2p) Vxpq * Axn < (1/29) Vxgp * /IXa * w2+ FOX3/X?
+ /xa < (1/2p)Vxpq * (1/2q) VXgp * IXa * W2 + FOX3/X2
+(1/2p) V xXpq * (1/2D) VXpq * (1/29) VXgp * Ixa * W3 + FOX5/X3
+(1/2p) - (1/2p) < (1/29) Vxgp * /Ixa* w2+ FOX3/X2
+(1/2p) + (1/29)Vxgp * Axa * W+ FOX/X
+(1/2p) - Axp c(—1/2q) -+ xa *w - FOX/X
+ Axa - (1/2p) c(—1/2q) - Axa * w* FOX/X
+(12p) - (1/2D)Vxpq* (—1/2q)  + Axa * w2+ FOX3/X?
+(1/2p)Vxp * (1/2p) - (—1/29)  * Axa * w2 - FOX3/X2
+ xa « A% Az (1/2) Vxgp * W * FOX/IX
+(1/2p) V Xpq * Ixb c Sxe + 112q) Vg * W2+ FOX3/X2
+ Axa < (1/2p)Vxpg * Axe + (1/29) Vg * W2+ FOX3/X2
+(1/2p) V Xpq * (1/2D) Vxpq * Axc * (1/2q) VXgp * W3+ FOX5/X3
+(1/2p) - (1/2p) c xe » (1/129) Vxgp * W2+ FOX3/X2
+(1/2p) c Axe + (11290 Vxgp * w * FOX/X
+ /xa c Axp (11290 Vg * (1/29) V xgp + W2 * FOX3/X2
+(1/2p) V Xpq * Axb * (1/29Q) Vg * (1/29) VXgp * W3 + FOX5/X3
+/xa * (1/2p)V xpq * (1/29) Vxgp * (1/29) Vxgp * W3 * FOX5/X3
+(1/2p) V 3pq* (1/2p) V Xpq * (1/29) V Xqp+ (1/29) V Xp * W » FOX7/X*
+(1/2p) - (1/2p) - (1/20) Vg * (1/29) V xgp * W3 * FOX5/X3
+(1/2p) (1/29)Vxep *(1/2q) Vxqp * W2 FOX3/X2
+(1/2p) < Axp (=129 +(1/29)Vxeyp w2 FOX3/X2
+ Axa < (1/2p) +(—1/2q) - (1/29)Vxqe * w2* FOX3/X2
+(1/2p) <(1/2p)Vxpq *(—1/29)* (1/2Q) V Xqp* W3+ FOX5/X3
+(1/2p)Vxpq * (1/2p) + (—1/29) + (1/29) VXgp  * W3 * FOX5/X?
+1/2p) - Axp c Axe +(—1/29) + w+ FOX/X
+ Axa -+ (1/2p) s Axe - (—1/29) +w * FOX/X
+(1/2p) - (1/2D)Vpq * Jxe * (—1/29) - w2 - FOX3/X2
+(1/2p) Vxpq- (1/2p) - Axe * (—1/2g) + w2« FOX3/X2
+ % + Axp - (1/29) -+ (1/29 - w* FOX/X
+(W/2p) - x c(112Q)Vxgp * (—1/2q) * w2 - FOX3/X?
+(1/2pD) Vxpq * Axp  + (1/29) < (1/2q)  + w2 - FOX3/X2
+ Axa <(1/2p) - (1/129)Vxgp *(—1/2q) - w?2- FOX3/X2
+ xa <(1/2p)Vxpg  +(1/29) + (1/2) + w2+ FOX3/X2
+(1/2p) < (1/2p) Vxpq* (1/129) Vxgp* (—1/2q) - w3+ FOX5/X3
+(1/2p)Vxpq * (1/2p) * (1/2q) Vxgp * (—1/2q)  * W3+ FOX5/X3
+(1/2p)Vxpq * (1/2D)Vxpq * (1/29) - (1/2q) - w3 - FOX5/X?
+(1/2p) - (1/2p) <(1/2q9) -(1/2q) - w2- FOX3/X2
+(1/2p) - (129) - (1/2qg) - w- FOX/X
+(1/2p) - (1/2p) <(—1/29) - (—1/2q) - w2+ F0OX3/X2
+(1/2p)  -(1/2p) <(—1/29)+ (—1/2q) - w2+ FOX3/X2
+ Axa « Axn -+ (1/29) - FO
+(1/2p)V xpq * Ixb - (1/29) «w * FOX/X
+ X « (1/2p)Vxpq * (1/2¢) + w * FOX/X
+(1/2p) Vxpq* (172p) Vxpq  *+(1/29) + w2+ FOX3/X?
+(1/2p) - (1/2p) - (1/29) *w * FOX/X
+(1/2p) - (1/29) - FO

FOX7 =(-8X3exp(-X2)
—7F0(X)) / X




ERICH T 2FR2EB% %2 & L BIECRITMUN e XT3t LU F o BT E %
exp(—x2) = Znp=o(—1)» % x2n  =1—x2+1/2x4—1/6x6+1/24x8 + - - -

FO(x) = [ exp(—x2)dx/x
= Sumo(—Dn A — xn =1—1/3x2+1/10x4—1/42x6+ - - - -
n! 2n+1
FOX(x)/x = (—F0+exp(—x2)/ x2
= Seo(—Dn - ——2— on = 23U UTxif - - - -
n! 2n+3
FOX3(x)/ x2 = (—3F0X —2x * exp(—x2))/ x3
= Zn=o(— D 1 4 2 = 4/5—4/7x2+2/9x4— ¢+ + - -
n! 2n+5
F0X5(x)/ x3 = (—5F0X3+4x2 * exp(—x2))/ x*
= Zn=o(—1n R — x2n = —8/7+8/9x2—8/22x4+ + + - -
n! 2n+7
FOX7(x)/ x4 = (—7TF0X5—8x3 * exp(—x2))/ x5
= S~ D0 20 e 169 16/11x2 813k~ ¢ - - -
n! 2n+9
FOX9(x)/ x5 = (—9F0X7+16x* * exp(—x2))/ x6
= Zn=o(— 1 1 32 x2n = —32/11+32/13x2—16/15x4+ « + « -
n! 2n+11

MEBEGIE 0 /T ARHES N TV WAL, FTEOFETRDLZIENTEX S,

(1 TPt (§22 : 0.00000028, 64T )
erfx)= v 7/2 { 1—1/(1+Xa;x)® }
a,=0. 0705230784
a,=0. 0422820123
a,=0. 0092705272
a,=0. 0001520143
a;=0. 0002765672
a,=0. 0000430638

@) T2 (erf=0 atx<107(-6))
erfx) = v ©n/2 { 1—exp(-x2) X [a;/(1+px)'] }

p=0. 3275911
a,=0. 254829592
a,=—0. 284496736
a;=1.421413741
a,=1. 453152027
a;=1. 061405429



